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|| b2:= spanning(x.r);

}
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® ColoSL: Concurrent Local Subjective Logic

Program Logic for reasoning about concurrent
programs

Compositional reasoning achieved through
(dis)entanglement mechanism

Frame irrelevant parts of the shared state to allow
for more local reasoning

(de)Composition of overlapping resources

Threads have different yet compatible views resulting
in subjective views of the shared state
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[:(IJ,P)[X](]z,Q) o 1 l>(]2,Q)

E [>([1,P):

A
g l>(]1,P)

Given action 4 in I:and unknown to I::
A does not mutate P

or future states reachable from P,

Given action 4 in both /i and I
the effect of 4 is the same in /i and L.
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Conclusions

® ColoSL: Concurrent Local Subjective Logic

Reasoning about concurrent programs with overlapping
footprints

(dis)Entanglement allows for more local reasoning by
forgetting (framing) irrelevant parts of the shared state

and associated actions

Framing by disentanglement results in different yet
compatible views giving way to subjective views of the
shared state




Questions!

Thank you for listening




